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EERE 15,579, 712
EEAGE 15, 136, 000
EERE 443,712
T O IR 15,136,000 53.85% ( 35% + (1 — 35%) ) 8,150, 736
RHRE 15,579, 712 + 8,150, 736 23,730, 448
—REEEF 23,730,448 x 53.85% ( 35% =+ (1 — 35% ) ) 12,769, 552
KBS 23,730, 448 + 12,769, 552 36, 500, 000
HERFHLE 36,500,000 x 10.00% 3, 650, 000
EBERREH 36,500,000 + 3, 650, 000 40, 150, 000
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% L] Bg - AR B AL % B B ff £ % Hm =
EHR 15,579, 712
RETET 15,579, 712
EEAGE 15, 136, 000
ETE# R 294,000
1 StE#(E 1.00 109, 800 109, 800
=
2 BiEE 1.00 184, 200 184, 200
=
KR EtF 13, 658, 900
3 HEHE 1.00 2,255,150 2,255,150
=
4 HEERK 1.00 6, 105, 350 6, 105, 350
=
S BIETEEHET 1.00 1,769, 600 1,769, 600
=
6 BERE 1.00 313, 500 313, 500
=
1 EIAEDBRE 1.00 2,194,500 2,194, 500
=
8 thEmEHEmR 1.00 1,020, 800 1,020, 800
=
theE - |E 672, 000
9 % - WA 10. 00 67,200 672,000
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% L] Bg - AR B AL % B B ff £ % Hm =

BE 92, 800

10 BE 1.00 92, 800 92, 800
=

BEY 418, 300

11 EHTHREER 1.00 418, 300 418, 300
=

EEEE 443,712

EHAMRE 143,712

12 EHARE 1.00 143,712 143,712
=

REY 300, 000

13 EBRERE 1.00 300, 000 300, 000
=
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i B - BIKTHE BAL 2 ] * % i
EXEETHES))
A 1.00 58, 600. 00 58, 600
HEm (A)
A 1.00 51, 200. 00 51, 200
= &t 109, 800. 00 109, 800
55 :2
2% BAE &Y
[ B - IR BAL 2 B * % 1
EEETHES)Y)
A 1.00 58, 600. 00 58, 600
HEm (A)
A 1.00 51, 200. 00 51, 200
HEm (B)
A 1.00 41, 600. 00 41, 600
e (C)
A 1.00 32, 800. 00 32, 800
a g 184, 200. 00 184, 200
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% L3 B - BIKTE AL 2 B ® B " *
Hem (B)
A 11. 50 41, 600. 00 478, 400
e (C)
A 28.75 32, 800. 00 943, 000
Bifi &
A 28.75 29, 000. 00 833, 750
& g 2, 255, 150. 00 2,255, 150
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2 RmEERK 1X=Y
2 [ B - Ik B B = B {f | H &
HER (B)
A 17.25 41, 600. 00 717, 600
HER (C)
A 57.50 32, 800. 00 1, 886, 000
Hif&
A 120. 75 29, 000. 00 3,501, 750
=) g 6, 105, 350. 00 6, 105, 350
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2% MEIEEETE 1X5Y
2 [ B - Ik B B = B {f £ H &
HER (A)
A 12.00 51, 200. 00 614, 400
HER (B)
A 12.00 41, 600. 00 499, 200
HER (C)
A 20.00 32, 800. 00 656, 000
= g 1,769, 600. 00 1,769, 600
ES:6
2% BERHSE 1X5Y
fa g - BKTE By B = B {f £ iH &
EXE2:T1CH))
A 1.50 58, 600. 00 87,900
HER (A)
A 1.50 51, 200. 00 76, 800
HER (B)
A 2.00 41, 600. 00 83, 200
HER (C)
A 2.00 32, 800. 00 65, 600
=1 it 313, 500. 00 313,500
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2 [ B - Ik =-Fiv] = B i & | H &
EXEETICH))
A 10. 50 58, 600. 00 615, 300
HER (A)
A 10. 50 51, 200. 00 537, 600
HER (B)
A 14. 00 41, 600. 00 582, 400
HER (C)
A 14. 00 32, 800. 00 459, 200
=1 B 2,194, 500. 00 2,194, 500
&5 .8
275 HEERMER 1K%Y
2 L g - K& B = B i & 58 H &
FEHRAR (F%ET)
A 4.00 58, 600. 00 234, 400
HER (A)
6. 00 51, 200. 00 307, 200
HER (B)
A 4.00 41, 600. 00 166, 400
HER (C)
A 6. 00 32, 800. 00 196, 800
Hitft&
A 4.00 29, 000. 00 116, 000
& B 1, 020, 800. 00 1, 020, 800
5:9
275 i - |E IEED)
g4 [ g - KT B = B i o4 58 iH &
HER (A)
A 0.50 51, 200. 00 25, 600
HER (B)
A 1.00 41, 600. 00 41, 600
& E 67,200. 00 67,200
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= :10
&% BE 1X5Y
2 b B - IR B B =2 B {f & 58 W E iH =
HER (A)
A 1.00 51, 200. 00 51, 200
HER (B)
A 1.00 41, 600. 00 41, 600
=1 it 92, 800. 00 92, 800
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2% EBTEREEER 1X5Y
2 b B - IR B B =2 B {f & | wE H =
FEHRER (F%ET)
A 1.50 58, 600. 00 87,900
HER (A)
A 2.50 51, 200. 00 128, 000
HER (B)
A 2.50 41, 600. 00 104, 000
HER (C)
A 3.00 32, 800. 00 98, 400
& it 418, 300. 00 418, 300
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&S 12
&% EBARE 1K%Y
£ b B - IR =X iv] B = B ff £ % W E iH =
EXARE
= 1.00 143, 712. 00 143,712
& it 143, 712. 00 143,712
e = K]
2% EBERERE 1K%Y
2 b g - K& B B = B ff & % W E w =
EXBHERERE
= 1.00 300, 000. 00 300, 000
& it 300, 000. 00 300, 000




